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0T MO, 4sin (12.56 x 10%) T mOTFOSINALH DN, SO3T
DO T 3N DODed ARG eeeT A00RL2S A0E_0hady,

Question: TOONACING. LT BATWOL INES (VBEFH)ET) 23y, 239,00
DO FRIGETE eDLROT TRONATT. 230,003 woa JRIETROT
TATLOT ANES ANES (B3 )83°) A0 b 230,00 Ny
MHz e3NT)3 3.
Topic: Physics-Section B
Item No: 56
Question ID: 1269456




Question Type:

Numeric Answer

10 ¢ T2 2032, 50 cm VI 308 FDROT HEITBMIE
€973, 300NNY 2e3eg) 60 ms™! e3NT3. 3030 9T, 3603 IALLIE 2 mm?

Question: DI, OHOTT 3™ 1.2 x 101! Nm™? esNTH 333, e9030 A 23007 T3, 3
a3t e3mMel S030D AT AF¥IE Ee3T x x 107 m e3NT D x &
2363

Topic: Physics-Section B

Item No: 57

Question ID: 1269457

Question Type:

Numeric Answer

2,003 Avedon; BRtOTE SeEE M0t Avely A0S 5 eSNES.
SRLOTTI 3e33F T 10 s E3NTI. 2,00 3¢ S ACEs THhoy,

Question: DEDRE), TFHNACIAN BLOEIMES BOR Se3SETOO) 55 s BSNE0. x
Se3el | esnch3d.

Topic: Physics-Section B

Item No: 58

Question ID: 1269458

Question Type:

Numeric Answer

235, 3e0ATHT03 20 VAT2T2N 8 V me0® BOdeLmE eam),
ATEDONAS B R B3 ADAT. 2,003 236 25 mA O, 200"

22000, &N R & T, 23e3cin Q e3NTH3
AN
Question: R
7y Re
| |
|
20V
Topic: Physics-Section B
Item No: 59
Question ID: 1269459
Question Type: | Numeric Answer

253, 503), 161 119 FaDeden )3TEadee) IRINTT A e03), B e
FODE (EFF) ATROTNFINGS. 2,00 &30 DT0LITE), e9ehNeh 2.0

Question: 08303 Be;&ODATF, BRODT, B a3, ATY So800A°
KON @) “¢” T iﬁ 8030 SNB.3.a= .
an
Topic: Physics-Section B




Iltem No:

60

Question ID:

1269460

Question Type:

Numeric Answer

100 V & A(de) RT20002:30, 20%A 500 uF Aoehis;FedTies 2,003
ROUTIN, eI PAIING. 2,003) LC ehOB @3, Tedaen

Question: QLI 50 mH YTHE BL0TE 23N ADIBT. LC sh0BOEELTIE
noaE, Wededde)) A SNTHIEH.

Topic: Chemistry-Section A

Item No: 61

Question ID: 1269461

Question Type: | MCQ
g5 #0%0h ™y, BOMBA.

4 HNO4(I) + 3 KCl(s) — Cly(g) + NOCl(g) + 2 H,O(g) + 3 KNO5(s)

Question: 110.0 g ¥z, KNO; 30102DA e 23 ei0ed HNO; & &jediacos)
(BHe3eY)
(33: H. 0. N ah3) K ¥ @000 TodNYH Feoeden 1. 16, 14 2303 39
€3723)

A 3220

B: 69.4 g

C: O915¢

D: 162.5¢g

Topic: Chemistry-Section A

Item No: 62

Question ID: 1269462

Question Type: | MCQ

Question:

8 FYT 4 D30, 0N Fo 08337 R0oadNe), AtEeNG.

A.n=31=2, my=1,m =+1/2
B.n=4,1=1,m=0,m =412

C.n=4,1=2, my=-2,m,=-1/2
D.a=3,1=1,m=-1,m,=+1/2
FJE O mﬁé@j&@mﬁ)ﬁ ADCIRT T,
D<B<A<C
B: D<A<B<C

B=xD=A<E




D:

B<D<C<A

Topic: Chemistry-Section A
Item No: 63

Question ID: 1269463

Question Type: | MCQ

C(s) + O(g) — CO4(g) + 400 kI
C(s) + %Ozﬁg) — CO(g) + 100 kJ

Question: Bezte 60% T 30D T E O, €33 50" TRTIONE), AITBEN
2)€30,7, BT B0 60% Tasy, ToE® ‘CO’° €3N OB Ie3odeney) i
D3, VPR, ‘CO,’ 83N TEPMTHT. 0.6 kg T 3,0, BeoAan
2BINBOIRTE T

A 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kJ

Topic: Chemistry-Section A

Item No: 64

Question ID: 1269464

Question Type: | MCQ

200 mL S&3a3), 0.01 M HCl 953, 400 mL 3&8), 0.01M H,50, &3¢,
ACDATRN e0é3ariel «0TeetS pH ediPwed .

Question:
53 :log2=0.30.log 3 =10.48.log 5 =0.70. log 7= 0.84. log 11 = 1.04
A: 1.14
B: 1.78
C: 2.34
D: 3.02
Topic: Chemistry-Section A
Item No: 65
Question ID: 1269465
Question Type: | MCQ




2 FTYN 3O BN AODA, TomNFndy, QLEewnGs.

S ORI, ZoIreH(K)
He 5.2
CH, 190.0
Question: Co, 3042
NH; 4035

QDE R, Bedvoratd FOEO aees es8¢ Fheed DI etAIeToNTres

E9:IOaJ).
A: He
B: CH,
C: CcO,
D: NH;
Topic: Chemistry-Section A
Item No: 66

Question ID: 1269466

Question Type: | MCQ

Question: E30°(330)T TadeitFe §odhode)., Sty

A: €32 HR0DN S3EAEIHT

B QDTS dDCTeTardeHTH

C: He0RET, 3000 BTYTRDN el TALAITHTR
D NaOH Sue08n tedacronedtdd

Topic: Chemistry-Section A

Item No: 67

Question ID: 1269467

Question Type: | MCQ

TYN QUG TUFINT Y, DTN

BeDE [ A0, 5,000 2,003 €369 T 3,783,081 OB TBOIRNG.
Question: BEDF [1: Fo,m3,000° 2,053 30D 96N,

Feed Aehels BEPTNY T, MDA, TENS esod, ) ead03
RNAT T U3 Tadnd, e3DAD.

A: T [ DI, TP 11 208 ADCITaNGS.

LT [ o3, BLPT 11 DTBER Sooe,Ned.

C: TP [ ADOIRNG. 3630 YT 11 300, NG.




D: TCPT [ 30,NE. 3030 CPT 11 ADOIRNG.
Topic: Chemistry-Section A

Item No: 68

Question ID: 1269468

Question Type: | MCQ

N3RS A O 2204 0IRMEI03 &3 E o008 A0S X' D),

Question:
BRODTE. TOMITIT ‘X’ o)?
] |
A CaS0y = H,0
B: CaSQ, - 2H,0
C: CaSOy
D: CaCOj;
Topic: Chemistry-Section A
Item No: 69
Question ID: 1269469
Question Type: | MCQ

BRTFTILHY, Co0 BR00OT maitedy owre® ehted ¥DA FabATen

Question: | a0’ 288,33 2 oIRTRMBE, WTE, e, so0ed)
A: B,04

B: Co(BO,),

C: CoB 404

D: Co[B4O5(0OH)4]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

FENT 0330a3 3d 3L 9031 IOV, IR BRODTIAN.

Question: BIR, BT DOTOD,, (AyygH) 0D, DETBIZTS ?
A C2t

B: Mn>"

C: Fel™

D: Co2"

Topic: Chemistry-Section A

Iltem No:

71




Question ID:

1269471

Question Type:

MCQ

Foady (1) & 9 23EE0D BOICDF NS TII0DE), IF, A eeh, 353
(ar-£30)0%). 8 TFNA oy (1) & ROBCLarnye). alvwedcdd NDE,

Question: | 5370 o33, 3 0eH,375?
(€Y, en — YBFEOD® 18,9830, : H,N-CH,-CH,-NH,)
A: [Cu(H,0)5]80,
B: [Cu(en)(H,0),4]80,
C: cis-[Culen),Cl,]
D: trans-[ Cu(en),Cl,]
Topic: Chemistry-Section A
Item No: 72
Question ID: 1269472
Question Type: | MCQ

03,73,83@0 2 2,003 A0 AOCINT 0N, e300 58 3 TNYe).
3% B NF, 0ENETEIZE. B80T 2,003) €37,,08° ARNY

Question: | S eSriemy, Toeh TPEBT 3By, B 3F0TeRETD §0D7 SoTs
NOTANVEM DI NCIA R STAN

A: NO

B: NO;

C: NO,

D: NO,

Topic: Chemistry-Section A

Item No: 73

Question ID: 1269473

Question Type: | MCQ

Question: 7-edT5,ET ALBRLTDT L FoLIEE) 3B,00° ADOIIRE JeFadod:

0
|




i
B: \ CH, —C—H
O
||
C: H
I
CH,—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

FOMNT. 4’ O30 IFNT HOIILD (FaH)oDE), eiomedod AONT
B 0D, TATWIZE. FO0INT. ‘B’ 0D ADCIRE TFS eh3),
FT0OEIC3W

(), Et = C,H; &3NT3]

Question:
(DMg. EO | o
(i) DFO
Br -
Compound "A
A: >—< R
D - chira
B: >_< Chiral
0D
c: >_< .Chiral
D
D: >_/\{JD Achiral




Topic:

Chemistry-Section A

Iltem No: 75
Question ID: 1269475
Question Type: | MCQ

YN UG TP INT I, DTBIING:

CH;
Lo,
BEDT [ F0030TeY) [ H 3080038 0o, N3.
L
Question: CH, (A)
CH;
BEDB II: D’-‘N% | B3y D FONTE @32 022e30NE.
. - CH;
30063 DetE BELIMP T, MedR, TENT 303,7FE). O
en3 Teldndy, e3DAD.
A: TPT [ a3, BCPT 11 dTBR ADOITDNG.
B: TLPT [ a3, BLPT 11 DTBR Szoa,Ned.
C: TP [ ADOIRNG. e300 &P 11 30, NG.
D: TPT 1 e50,NT, 330 BCPT 11 ADOIINGS
Topic: Chemistry-Section A
Item No: 76
Question ID: 1269476
Question Type: | MCQ

QBT 23200 H,S0, Se0DT ALDATRN 2,000 90

Question: BINBOIRM3 . 88 e9)0e3m), 30T TIFe B3codhars
€92)T00TE 20 TElfed LY HeCATIIN L3Ye AOOINT ).

A: B 30,000

B: FOeDF T €323,

C: i S0y

D: YPTONT® €353,

Topic:

Chemistry-Section A




Item No: 77
Question ID: 1269477
Question Type: | MCQ
Question: ConS2ITTE €92)T0TTay)
0
Il
A: Ibl -l
0]
N," Cl
0
C: @::;N K’
oy
N=N
’ /O/
HO
Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ

Question: QeINF ), O30T F,210e)T 20T, (e T?) e9e) ?
A: EAOIRA

B No,23°E

C: orAROM

D decdre®

Topic: Chemistry-Section A

Item No: 79

Question ID: 1269479

Question Type: | MCQ




FYT 20E) TEPINY D, BN, 2,000, BSTOWS (A) 20T
FTOMR 23R 0N, To09 (R) 0T TADR NG,

) 3TOT A: 32,3 DT, DTN AT D)L

Question: TOU R: 2953, 0¢A° 2,003 eI 0% Btadtod essadetnntdy,. 200
NABRCA SEBNYSIR,IRR0RE.
ghee3 AeBEs BELBNTT, MeDIR, TENT e203,719e). FDoIT
o3 Teddy, e3DAD.

A A D3 R Q0B ADOITNES .3TBTC Red) AT ADO3E e300 NG,

5 A D3 R Q0GB ADCITNES., 3030 R ed) ATt ADOTWT
edelTRolene) .
A ADORNG, 3030 R 3we,N3.

D: A 339,13, 35335 R ADORNGS.

Topic: Chemistry-Section A

Item No: 80

Question ID: 1269480

Question Type: | MCQ

2,003) AOCINT, ‘X’ o) (2E® €33 z0oNGS a3, BE3) NaOH 2.3
CH;COOH N¥ 3832 £300t36), Acdiomide 2d0T30e)™ &eddfE@ts pH K3¢),

QUEstON | 553 206053 e RT3 E. BOMNIE X 5 535950060
BN, LIRIN CRBEETIR. FONT, X' ).

A eOG3,e7° e300

B: DT, TBTE° (FTO))

C: SrooEs e

D: DO3RTRLST e0F T

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

Question:

X7 g R, €960, F €38 270 (0,) B3 200 g BRI, DB (Ne) So0dT
SORT3. HOPDBERS 0, T3, Ne 1Y N0t 2.3 %53 AOOBTIE), 25

23T 3N, 2,053 Fod eHI), MIFTE). Ne & 3087 2.3 Tag) 20 2390°
PYRIE. BDOMET X' ™ eoeed) .

[B3,: 0, IF BP0 Tod=32 gmol .
Ne IS 3REe30° T® = 20 g mol 1]




Topic: Chemistry-Section B

Iltem No: 82

Question ID: 1269482

Question Type: | Numeric Answer

GeINT, BOTEIR,
PF.. BtF. PCl;. SF,. [IC1,]". CIF5. IF.

Question:
e30e>,0T3 9N F/eI03TVRINSE). . sp’d? BOTTLaa3=, BAHODTI
E9EM L/ 0NN AO&T;000 ;

Topic: Chemistry-Section B

Item No: 83

Question ID: 1269483

Question Type: | Numeric Answer

1.80 g MaE),, TI9jEd; "A’ 0TI, 62.5 cm’ BRI, OBNETTE).
JERTNRPAC. D9eltdts 3TTED L0 155.1 K 9Teddd
FOMIWODT. Dojeds A O BRCDT® TodODY _ gmol ™,

Question: | 138 : BOET ™ F T30 LI0EEY 156.0 K e3NG3.
DTN AROTII0IN 0.80 g ecm™ €3N,
AFVVETR FAEFTTe L0E) BAZE JONIV0TaY) 2.00 K kg mol™!
STt

Topic: Chemistry-Section B

Item No: 84

Question ID: 1269484

Question Type: | Numeric Answer

TRLTTo,MN.

Cu(s) | Cu?™(0.001M) || Ag™ (0.01M) | Ag (5)
208 K 3¢). o3 23l 0.43 V 03 FOWIWORT. Cu™/Cu MmN

Question: &
B0 3 3T, TR Feecssd) x 1072V,
B3:E°, =080V abd, 230RT_,ney
Ag”/Ag F
Topic: Chemistry-Section B
Item No: 85

Question ID: 1269485

Question Type: | Numeric Answer




30 B3@ENY OTF0 BRODTIE lug Jad),, Bt iet @3,
SBT3 X 7, B3ve3edrione) Gozs 23007 otDTATEHTOR
RoACING. BT LR NY 3000 TR, PR X &

Question: )
AN x 107 'ng .
[(33.: In 10 = 2.303; log 2 =10.30]
Topic: Chemistry-Section B
Item No: 86
Question ID: | 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] ), 03,0 A8 eH3), AW, N B3y ;

Question: / \ / \
(C33,: bpy = )
N N=—
Topic: Chemistry-Section B
Item No: 87
Question ID: 1269487

Question Type:

Numeric Answer

T A T cDROT e3TR £ 353 ¥R, HONDA:

Question: H,S0; . H,S0, . H,8,04 and H,5,0,. B00%R,£ 207 (0-0) &) 0T
_ e3ZR L s pd)/mieh.

Topic: Chemistry-Section B

Item No: 88

Question ID: 1269488

Question Type:

Numeric Answer

2,003 1.84 mg S, @)@, 07 e3c3e, modF F0030T ‘X'
ESRED0D e3P TaY 92.0 g/mol €3NTI),, STP ), 1.344 mL &y, Hy

Question:
E9:0OIN, BT, AOOINT X’ ), FO) 20T e33R, T
0,C8BR RS AOST;00 .

Topic: Chemistry-Section B

Item No: 89

Question ID: 1269489

Question Type:

Numeric Answer




() Ph(C=0)C(OH)(CN)Ph 3,205 7 HCN 2335 AT en0ésaries
Question: Fededd 30D ARONTY A0&S;
[9€), ph = CHs- e3NT]

Topic: Chemistry-Section B

Item No: a0

Question ID: 1269490

Question Type: | Numeric Answer

Question: B0 pTeerT) Tl ZRLDW BTNy mosS;  esnad.




